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Write your Name, Roll Code, Roll No. and Registration No on the OMR

Answer Shect in the space provided. Putl your full signature on the OMR
Answer Sheet in the space provided.

2. P 40 W-fawedg gra ¥
There are 40 Multiple Choice Questions in all.

3. *uE sfad o wRE wva ) se w
All qucstions are compulsory. Each question carries 1 mark.

4. WRF 9 R 9n faweq | A4 fa ma ¥ | v R RS fawee #1 39 RK93 OMR 3W
9T TR HTEAT HL | A AN AT HEG @ E i et dfes & owam
afAd &

Four options are given for each question numbered 1 to 4. You have to
blacken darkly the correct option on your OMR Answer Sheet. Use only
Blue or Black Ball-Point Pen. The use of Pencil is not allowed.

QUM Md- 9153 ® Y6 OMR 3W U9 d@ite & o afa 1 qv4.92 309 3ad
a @ m aEd g

Before lcaving the examination hall hand over the OMR Answer Sheet 10
the invignlator. You are allowed to take the question paper with you.
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Adhere 10 the instructions above very carefully otherunse your
\OMR Answer Sheet will be invalid and it unll not be eualuated)
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Which of the following is rational numbe: ¢

(1 43 (2)

K
(3) —
0 )

Muth

&iC

Fmﬁm?aﬁhMlmzkﬁuﬁuat?

Which of the followang rational numbers lic

1
M3 (2)
4
(3) 3 {4)
0.6 W R
0.6 is cqual to
2
3 )
6
{3} m (4)
2
325 T
2
325 1s equal to
(1) 2 (@
)
@ 4)

ffafaga o #13 agee ¥ 2
Which of the foHowing is a polynomial ?

(1) 3&4»1‘1(5 (2)
3 x+43 )

9)-11

% helween | and 2 ?

i N

nlw

x? + Jx
¥ @ ®it 36 / Nonc of these
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) -
' x? 3 113 divided by x +1, the remainder is
() o 2) 1
3) 2 4 3

P(x])=x -5 & y=a% k
Zcrocsof P[xl-x—s 15

(1) ) (2) -1
3) s (4) -5

8  y'-Sy+6® Proag d
The factonisation of y? - Sy+6 is
(1) (y+2)(y-~3) (2)  (y-2)y+3)
B} (y-2)y=-3) (@) (y+2)(y+3)
9. X+y=7TH AL
The solution of x + y = 7 i3
(1) x-0,y=0 2} x=3.y-0

3) x-0y=4 ) x=3y=q
10, x=03 y=0fg atem e d >

x =0 and y =0 is the solution of equation

(1) x =4y (2) 2x+y=7

(3) 2x-y=7 (4)  y=3x+5

1"9"lﬂ 4 ol ¥
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To which cquation doca thia graph belong ?

(1 y=x+2 2) y=x-2
3) y=-x+2 (4) y=-x~-2
Frdwme (-2, 4 ) %1y &
The abscissa of coordinate (-2, 4 ) 1s
(Hh -2 (2 4
(3) O 4 (4,-2)
fag G ® Fdyw
The coordinate of the point Gis
o Y
2 -*
l o
x' e—y o) ’ > X
-2 -1
_lu ]
2D
b,

(n  (2,2) @ (2,-2)
3) (-2.-2) 4 (-2.2)
fagg (-2, 4)faa t
(1) l1st Jquin (2) Tind watn &
(3] Iird w0 4 (3)  IVth e &

Math
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Point ( ~2, 4 ) Lies in the
(1
) Ist quadrant (2) lind quadrant

(3
) lilrd quadrant (4)  IVth quadrant

15 W&Qwhqﬁmhwaﬁmeruwﬁi?
() o= 2 @
(3) = (4) ¥=

How many lines can pass through a given point ?

(1) One 2y Two

(3) Three (4} [Infinite
16, 20* % gr% wmor 6

The complementary angle of 20* will be

iy 60° 2 70°

(3) 160° (4) 90°

V7. TF T € 9 e RoEw € € ae A2 9 e kg om e ko

The measure of an angle f8 twice the measure of its supplementary ang)

What 18 its measure ?

(1) 60° 2) 30°

3 120 (4) 240
18. ®wamg frgs w1 s w1 xen f

Each angle of an equilateral triangle s

() 6o 2 70°

(3) 80 (4 90°

6 of .
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th  g2w fnga 2) e g

(3) fvwwm e 4) v a et

If onc angle of u tnangle 18 cqual to the aum of the other two, then the
tnangle is

(1)  an acute tnangle {(2) anghttnangle

(3)  an obluse tnangle (4) none of these

afz AABC = APQR, 7& pR T §

If AABC = APQR, then PR is equal to
(1) AB (23 BC
3) AC (4) %W 1 FY A0 / none of these

TF TR & A B 100°, 98° T 92° §1 I dra w1 k

Three angles of a quadrilateral are 100°, 98° and 92°. The lourth angle 18
(1) 80° (2 70°

3y 60° 9 S0°

FaiA 9A# PORS A <P, £Q MR K A LQ® AR

In parallelogram PQRS, ZPis four times of ZQ. Then the measure of £Q

1S
(2) 707
(4) 60"

(1) 144°
(3) 36°
& AHAY4 & faant 24 cm 3T 10 cm & 1 TEF EIFA X 7

The diagonals of a rhombus arc 24 cm and 10 cm. Then its area is

(1) 240 cm? (20 120cm’

(3) 360 cm? (4) 480 cm’

7of M
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26

i & ABCD e wutng e kot amtm apda ABCO @t dxEm d

In figure, ABCD 18 o paraliclogram The area of the paraliclogrem ABCD (s

D Scm C
Tcm
A L B8
*— Scem—e
(M 12cm? (2) %:-’- cm?
() 3ISem? 4 17 cm?

o AB=12cm, BC= 16cm 3t ABYaavg pc Tt s k. M A, g 3 C 7
& 7w g ¥ froa ¢

If AB =~ 12 ¢m, BC = 16 con and AB is perpendicular to BC, then the
radius of the circle passing through the points A, Band Cs

(1} ©6cm (20 8c¢m
(3} 10 cm (4) 12cm

syfad aft ,Aa0B =60 §, B cAaCBTORT R

In figure, f ZAQB = 60°, then LACB is equal to

(1) s0* (2) 40°

13y 30 (4) 60°

2000¢9)-0 S o2
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27. W& Bopr agc fnnl A - 4 em M LA - 600 b, W TN TN W R, ok BC
M ace ot

The construction of triungle ABC in which AB = « cm, A = 60° is not
PONXILIC when the difference of BC and ACis equal to

N 3s5¢m (2) 4Scm
(M 3em M) 2Sem
28. 1S cm, 20 ¢em MR 25 om W A faya w1 ewwm g
I the sides of o tnangle are 15 cm, 20 em and 25 cm, its area will be
(N 120 em*? (2) 130 cm?
(3)  150em? 40 170cem?
29, x-3W & qEwT w9 R
The cquation of x-axis is of the form
(1) x=0 () y=0

(3) x+y=0 4) x=y
30, UH IR Eet R - & o S - h k. ® e et dyea d

A cevlinder whose radius = 7 and height = A, has total surface area
(1) 2xrh (2) nrh ¢ xr?

(3) nrh (4) 2rr(her)

3l. erﬁq:ﬁﬁm%mhuﬁtmézt&.mfaq@umm

The total surface aren of a cone whose radius is = and slant height 21, is

(hH 2er{ler) 12) u(u§)

3) ar(ler) 4)  2xd
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A ¢vlinder whose rudius 7 » 20 cm and height h« 7 m, hus & volume of
Lt B30000 cm ? {20 220000 cm’
(3 330000 ¢m? (4) 8800 cm?

W 10m>10m»Sm femsd ot o¢ vt § 18 7 v W wEE AR 3L W
o ¢

The length of the longest pule that can be put 1n & room of dimensions
WOmx10mxSms

(t} 15m (2) 16m
3} 10 m 4) 12m
34 7.8.9.6,8,9,9,7, 8,8 3% 1t 8 ¥ wwra ¥
The frequency of 8 in data 7, B,9,6,8,9,9,7,.8.8is
th 1 R 2
(3) 3 4 4«

35, @ 3AU= 10- 1SW AW

The upper limit of class interval 10 - 15 is

g S (2 10
(i 25 4 15

36, van A |w #ea 1 qng fgm
The mecan of first three even numbers will be

(y 2 2y 3

(3) 4 (@ 6

(20039} 0o ¥
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38.

39.

40.
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H®E 2,3,4,3,5 3. 1,2, 3% Wetw &
The mode of data 2, 3,4,3,5,3,1,2,3is

{1 I 2 2
3 3 4 4

ﬁ%ﬂﬁmﬁmaﬁwﬁm#ﬁiﬁm?

Which of the following cannot be the probability of an event ?

m 21 :
2 @ -3

1
(3) Y (4) 1

U& JEVE gz &1 migea @

- The probability of an impossible event is

(m 1 2 0

3 3 @ 2

ve fea® # 100 IR IBTHA W W 55 W w7 ¥ At 9z W wiewn i

A coin is tossed 100 times and the tail is obtained 55 times. The
probability of tail will be

(1} 085 (2) S5

(3) 550 (@) 100

2003(9)-O0
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